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Best (?) current way in the forest to go from |IPa to Residhome
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Continue down the stairs...
(to the right = path around water tank)
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Go to the right where the (covered) bench is: take small trail
otherwise you join the road
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Straight on along nice trail..
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The “worst” place I've seen
(in climbing direction)
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Joining the main trail in the bottom of the hill
Don’t miss the path to the left when climbing !
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Joining the main trail in the bottom of the hill
Don’t miss the path to the left when climbing !




